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* ok % & % KAKUHITSU MENSEKI KESAN=SHO % % % * % % *x «*

BLOCK . LOT KAKUHITSU MENSEKI SUMIKIRI.SUIRO MENSEKI
45 BLOCK 6354.780025

LOT _ _ 1600,443628

LOT 764.016424

LOT 505.305426

LOT 330.703718

Lor L L - 408.513596

LOY 445.715643

Lov. oo 719.249546

LOT 913.474525

LOT _ 667.301349

AZ¥Y 1.999301

AX¥ 44499595

RO OIN NV o

TOTAL = 6354,723855 6.498896
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149706.725
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149771.266
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39249.100
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y
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39201.744
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39201.744
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N
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39201.237

- .39200.902
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(X=X0)* (YN=1=Y0)
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(X=X0)* (YN 1=Y0)
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(X=X0)* (YN=1=Y0)
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+
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359.128450
50.622880
503.559504
35.876495
361.192518
447 .153700

1685.780557
12709.560050
6354.780025

. 50.622880
271.309662

125.672640

209.362614

192.987325

89 555131
.. 3200,887256 . . .

1600.443628

151.143760
109.201123
3696.380368
3653.095160

7609.820411
- 1528.032848

764 .016424

(X« X0)* (YN=1=Y0)

119.793554

(XN=1=X0)*(Y=Y0)

K N TR

-

(XN=1=X0)*(Y=Y0)

+ 4+ + .+ 4

-

(XN=1aX0)*(Y=YO0)

+ o+ o+ %

-+

ot

53.458090
25.602075
2.285360
348.404448
6647.305300
7322.856054

14395.340607

25.602075
. 15.040256
1896.103196
2067.905820

46.191030

4050.842377

88.156042
4397.468765

4525.181540

127.046912
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(XN=1=X0) % (Y=Y0)

78.171830
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X
149798.496
149788.279
149786.665

X
149700.000
149796.842
149813.940
149814.603

- 149797.487

1649796.842

X
149800.000
149813.940
149832.272
149835.383
149835.995
149814.603
149813,940

CeAl MENSERT
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X

149800.000
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39200.902

BAI MENSEKI
MENSEKI

N D S T BEE R Y

TN TR

Y

0 39200.000

39200.339

039199.735

59202.634
39218.949
39219.650

39200.339
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88.843392
4449 .085042
4397 .468765

9055.190753

1010.610852
505.305426

102.773880
38.850417

1915.,619550

1957 .273662

4014 .517509
661.,407436
330.,703718

(X=XO)* (YN=1=Y0)

.. 10.,940208

9.376495
94.810830
276.712247
273.921000

L 647.007790

817.027192

 408.513596

(X=X0)* (YN=1=Y0)

9o uiesis

703.519523
1095.028200

- 1056.288606

3554.255174

891.431287
445.715643

(XH=1=X0)*(Y=Y0)

4
+
+

+

(XN=1«X0)*{¥=Y0)

+ 4+
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(XN=1=X0) *(Y=Y0)
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64880.643116
4997 .785536
109.201123

10065.801605

32.829438
2238.921000

-~ 2316.241233

87.933274
4675.924945
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0545=16
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TENMEI
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084519
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149797.487
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X
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39227.820

39253.402

BA1 MENSEKI
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59200.000
39203.873
39205.870

. 39252.493

- 39203.807

IO
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1 39228.697
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(X X0) % (YNe1=Y0)
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+

(X=X0)* (YN=1=Y0)

+ + 4+ ¢

+

(X=X0)* (YN=1=Y0)

2451.533667
2576.,450162
4885.204608
4913.149826

14626.338263

1438.499092
719.249546

AX=X0)* (YN=T=Y0)

20046.709200
1938.1938838
1852.741440
1826.493935

7622 ,138463

1826.949051
913.474525

998.512115
1005.526080

473.053751
420.22033%8

2902.312284
1334 .602698

 667.301349

6. 045925

50.622880
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(XN«T1=X0)*(Y=YO)

o 4 =

-

(XN=1=X0)*(Y=Y0)

-+ o+ o+

(XN=1=X0)*(Y=Y0)

o

+

1894.269897
6016.088606
6163.776196
1990.702656

- 16064.837355

925.7557790
3693.795600
3824.010064
1005.526080

9449,.087514

218.91558¢0
1826.493935
1930.161888

261.343579

4236.914982
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TENMEI X Y (X=X0)* (YN«1=Y0) (XN=1=X0)*(Y=Y()
0845-2 - 149706,625 - 39203.873 + 25.221375 + 33.400752
* 101.890180 + 97.891577
BAI MENSEKI = 5.998603 o _
MENSEKI = 1.999301
3 AZ¥Y
TENMEI X Y (X X0)* (YN=1=Y0) (XNe1aX0)*{YeY()
X0.Y0 = 149800,000 - 39200.000
0545-3 = 149835.,270 = 39199.636
05457 - 149832.272 - 39199.735 = - 11.747008 o 9.346550
05458 = 149835.383 = 39202.634 - 9.376495 + 85.0044438
0845~3 - 169835.270 - 39199.636 + 92.901180 - 12.879412
v+ 11.777677 + 62.778486

8.999191
4.499595

BAI MENSEKI
MENSEKI

non-



